normalized X?

[ normalized x? probability |

1

o 9 90 © o o 9 o o

Chiz_prob
Entries 0
Mean 0
Std Dev 0
Chiz_prol

Entries

Mean 0
Std Dev. 0

chi2_prob
Entries

0
Mean 0
Std Dev. 0

. I

Std Dev 0

chiz_prob.

ntries 0

- chiz
10°E Entries, 0
E . . . . . . Mean 0
N : : : : St Dev 0
[ T |
_, . Thiz
107 = 5
E . N N N N o | Mean 0
r . . . . . . Std Dev. 0
] T R I
0 T T e 5
Eoroo 0 vean 0
r - . . . . + |std Dev 0
o] P S R L
o I
10°F " A PR
T e

Ratio

14 16 18 20
X2

< x2/ndf >

Ratio

0.5

%0 010203040506070800 1
Prob(x?)

== DQM_VOUUI_RO0U00000T__Global__mKFT
mmm DQM_V0001_R000000001__Global

RECO

mkFitMISSOUTER__RECO
mKkFitBADOUTER __RECO

m—— DQM_V0001_R000000001__Global_mkFitBADINNER__RECO

e DQM_V0001_R000000001__Global

s DQM—V0001_R000000001_Global_mkFitNOMEAS__ RECO

Ratio

< x2/ ndf >

Ratio

< X2/ ndf >

ol

1072

-1
AR(track, jeltS)



	Contents
	Page 1


